ITI Turner 2nd Year Module 3 Lathe Attachments

(1). Where the milling attachment is mounted in centre lathe? | JucR Y AR H
AT sfcavic ! gl IR ST Il 82

(A) Cross - slide | mw

(B) Compound rest | HUNES &
(C) Tailstock | TAEl®

(D) Rear tool post | W@W

Correct Answer : A

(2). What measurement is checked? | EEEEIGRIRELC] GQIiZII Trq'[%' ?
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(A) Measuring major diameter | GI\% oY [ HIUA

(B) Measuring core diameter | HR AT BT AU

(C) Measuring pitch diameter | O g &1 |1

(D) Measuring effective diameter | UHIG! T 1 HIUA

Correct Answer : B



(3). What is the type of checking thread? | AfdeTr Q_S'WWW%?

(A) Checking effective diameter using 3 wire method | 3 dR fafd &1 3uan
Db YHTA! AT B SlId HRA]

(B) Checking effective diameter using prism | fOUSH START B YHTdT AT DI
EICEXE]]
(C) Checking minor diameter using micrometer | WWWW

B¢ MY DI S Bl

(D) Checking major diameter using 3 wire method | 3 aR fafer 1 ST b
§S T B Sld Bl

Correct Answer : A

(4). Where the fixed steady rest clamped on a lathe? | RR TSI &I UR[q UX
HElaEd 82

(A) On asaddle | ASA W

(B) On a carriage | PRI R

(C) Ontool post | EWW

(D) On the lathe bed | AY A B S8 WX

Correct Answer : D



(5). Which gauge is generally used to check internal threads? | 3TAN® IS Bt
S & foTT QT R {5 7isT &1 SUTiT fosdT ST 82

(A) Thread ring gauge | EArURITH
(B) Thread caliper gauge | Q@Wﬁ\_ﬂ
(C) Thread plug gauge | 9S WIS
(D) Thread snap gauge | 98 JY IS

Correct Answer : C

(6). What is the formula for metric thread depth? | m %ﬁ"l@ﬂg%m
{1 g 87

(A) 0.5 x pitch

(B) 0.6134 x pitch
(C) 0.6403 x pitch
(D) 0.75 x pitch

Correct Answer : B



(7). What is the name of lathe attachment? | Y WWWW%?

(A) Copying attachment | P 3egde
(B) Gear cutting attachment | iR &wfdm 3eghe
(C) Grinding attachment | ‘;I'IE'%"TGI%?F?I_C'
(D) Taper turning attachment | TR efH \’r@ﬂﬁf

Correct Answer : B

(8). What is the disadvantage of fixed steady rest over follower steady rest? |

BIAIaR ol I DI gaT H R Wel I B .1 71 ]2

(A) Support at one fixed place only | Wwﬁ@ﬂwwmﬁ

(B) Support continuous entire length | ﬁwqﬁaﬁémmﬁ

(C) It rotate with the job | T8 S & WY AT §

(D) It rotate and moves along the work | W?W?‘[W%@WUW%

Correct Answer : A



(9). What is the advantage of roller steady rest over fixed rest? | s W&
HehTa TR LT W P T BIIC 8?2

(A) It can fixed on saddle | WWWHHWGITW%

(B) Easy to rotate the work | Wﬁﬂtﬂe{ﬁ ST

(C) It rotates and moves along the work | ﬁ%’ﬂ;ﬁ?ﬂ% ﬁ?W?W?‘[W%
(D) It can fixed on tool post | a%;awq?m%mww%

Correct Answer : B

(10). What is the name of lathe attachment? | AY CTHT BT ATH 1 %?

(A) Taper turning attachment | SR efHT &I%ﬂfl?
(B) Milling attachment | ﬁlﬁ‘l"’[x’r@ﬂﬁ?

(C) Grinding attachment | ‘JI'I_{%"TGI%ﬂfI—C'

(D) Copying attachment | I 3cgde

Correct Answer : B



(11). Which gauge is used to check the right hand and left hand thread? | alléﬁ
B1Y 3R AU BTY & U DI i & forT fom 71T &1 Ty o STt g2

(A) Thread plug gauge | NS WIS
(B) Screw thread caliper gauge | ¥p Q@'Wﬁﬁ
(C) Screw pitch gauge | @ﬁ?ﬂ:ﬁ[
(D) Thread ring gauge | EArURITH

Correct Answer : C

(12). What is the type of measurement? | a_s'm UhR hl HIU %?
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(A) Measuring major diameter | a@mwm

(B) Measuring pitch diameter | O T 1 HY

(C) Measuring minor diameter | Bl 19 &1 H Y

(D) Measuring effective diameter | HTA! T T {1

Correct Answer : C



(13). What is the name of the figure? | &WWWW%?

(A) Roller steady | J@R Tl

(B) Travelling steady | ¢afeiiT Rt
(C) Fixed steady | TtheRg TSt

(D) Cathead | PCBS

Correct Answer : B

(14). Where the grinding attachment is mounted in centre lathe? | e WY

TR T ARfET sicate ! gl UR &7 Il g2
(A) Rear tool post | R T UR

(B) Compound rest | HUTSS I

(C) Tailstock | CAI®

(D) Lathe bed | AU TS

Correct Answer : B



(15). How many standard wires are used to check effective diameter very

accurately? | THTA! ST B ST B o [o1U fd ATM® dRi &1 SUART foear
ST 82

(A) One wire | Udh dIR
(B) Two wire | I dR
(C) Three wire | IR KSIRY
(D) Four wire | AR dRR

Correct Answer : C

(16). What is marked as "X"? | "X”%Wﬁﬁl’%ﬂ?ﬂ%?

(A) Adjustable pads | SHAST US
(B) Base | MTYUR
(C) Work | BTI
(D) Hinge | &TSl

Correct Answer : A



(17). What is the name of part marked as ‘X’? | X’ Wﬁﬁ%ﬁ Wﬁwwﬁév

X

(A) Precision roller | UF\”-‘{E‘ZW

(B) Slip gauges built up | EFITE&IT%WW
(C) Parallel blocks | JHIR Alh

(D) Taper parallels | JHIR TR

Correct Answer : B

(18). What is the name of part marked as ‘X’ in thread measurement? | IS B

A9 H X' gRT fIfd HITT &) T Hed 82
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X

(A) Slip gauge | BRI




(B) Taper parallels | TR IHMIAR
(C) Micrometers | Iﬂgﬁjﬂa
(D) Vee prism | at fosH

Correct Answer : B

(19). What is the form of NO GO anvil of caliper gauge with roller type? | SR
THR & HICTIR Tl & NO GO TATAd &l a1 &0 g2

(A) Half thread form | 3TYT € BIH
(B) Full thread form | W%Wﬁ

(C) Correct shaped form | Tl PR BT =24

(D) Truncated shaped form | W%E'Q HIDR D[ =Y

Correct Answer : D

(20). Which formula to be used to find core diameter? | PR AN B Wil &
o fore 3 &1 SuaiT fha S 82

(A) Core diameter = Major diameter - 2 depth | R S = 3T Y - 2 TS
(B) Core diameter = Major diameter - depth | PR AN = ol MY - ‘IEQI%

(C) Core diameter = Major diameter - minor diameter | PR AN = CEICRE
EIEEIC

(D) Core diameter = Major diameter - pitch | HR AN = dol My o=

Correct Answer : A

(21). Which part used to mount the spherical turning attachment? | MATHR

i 3T DI HIGC B & oIT food W 51 SUANT fham ST 82



(A) Saddle | T&d

(B) Tool post | €&l URE

(C) Top slide | 3NN TZS
(D) Cross slide | 19 W38

Correct Answer : D

(22). What does M20 stands for? | M20 WWW%?
(A) Metric thread 20 mm diameter

(B) Metric thread 20 mm length

(C) Metric thread 20 mm pitch

(D) Metric thread 20 mm lead

Correct Answer : A

(23). What is the name of lathe attachment? | Y WWWW%?

(A) Taper turning attachment | SR i 3rede
(B) Milling attachment | fafeiT areede
(C) Grinding attachment | ‘/'Ilglgll 3cThc



(D) Copying attachment | I 3cgde

Correct Answer : C

(24). Which device is used to support the lengthy job is not round while turning? |

i1 PR THg T Sid B A T8I ¢ & o T I3 &1 vt fosa ST g2
(A) Fixed steady | ThoRs TSt

(B) Cathead | HCRE

(C) Follower steady | TPICIIOR ol

(D) Dead Centre | S8 Hex

Correct Answer : B

(25). What is the advantage of follower steady rest over fixed steady rest? | RRR

WS DI I H HIAOR TSl X< B T ATH §?2
(A) Support at fixed place of work | m$ﬁ@ﬁ@mmﬂ€méﬁ%§

(B) Support continuous entire length of work | mﬁﬁwqﬁa@rg‘mm
G

(C) It rotate with the work | T€ Sid & ITY AT §
(D) It rotate and moves along the work | ST & TTY GHdT § Td 1Y Iadl &

Correct Answer : B



